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1. In a ∆𝐴𝐵𝐶, angles 𝐴, 𝐵, 𝐶 are in A.P., then 

lim
𝐴→𝐶

√3−4 sin 𝐴 sin 𝐶

|𝐴−𝐶|
 is equal to 

 a) 1 b) 2 c) 3 d) 4 

2. For all values of 𝜃, the values of 3 − cos 𝜃 + cos (𝜃 +
𝜋

3
) lie in the interval 

 a) [−2, 3] b) [−2, 1] c) [2, 4] d) [1, 5] 

3. If cos 𝐴 = 𝑚 cos 𝐵 and cot
𝐴+𝐵

2
= 𝜆 tan

𝐵−𝐴

2
, then 𝜆 is 

 a) 
𝑚

𝑚−1
 b) 

𝑚+1

𝑚
 c) 

𝑚+1

𝑚−1
 d) None of these 

4. The value of cos4 (
𝜋

8
) + cos4 (

3𝜋

8
) + cos4 (

5𝜋

8
) + cos4 (

7𝜋

8
) is 

 a) 0 b) 
1

2
 c) 

3

2
 d) 1 

5. If sin 𝜃 =
12

13
,  (0 < 𝜃 <

𝜋

2
) and cos ϕ = −

3

5
(𝜋 < ϕ <

3 𝜋

2
), then sin(𝜃 + ϕ) will be 

 a) −56/61b) −56/65c) 1/65d) −56 
6. The quadratic equation whose roots are sec2 𝜃 and cosec2 𝜃 can be 
 a) 𝑥2 − 2𝑥 + 2 = 0 b) 𝑥2 + 5𝑥 + 5 = 0 c) 𝑥2 − 4𝑥 + 4 = 0 d) None of these 

7. If sec 𝜃 = 𝑚 and tan 𝜃 = 𝑛, then 
1

𝑚
[(𝑚 + 𝑛) +

1

(𝑚+𝑛)
] is 

 a) 2 b) 2𝑚 c) 2𝑛 d) 𝑚𝑛 
8.  If in a ∆ 𝐴𝐵𝐶, ∠𝐶 = 90°, then the maximum value of sin 𝐴 sin 𝐵 is 

 a) 
1

2
 b) 1 c) 2 d) None of these 

9. In a cyclic quadrilateral 𝐴𝐵𝐶𝐷, he value of cos 𝐴 + cos 𝐵 + cos 𝐶 + cos 𝐷, is 
 a) 1 b) 0 c) −1 d) None of these 
10. If the angles of a triangle are in the ratio 1 ∶ 2 ∶ 3, the corresponding sides are in the ratio 

 a) 2 ∶ 3 ∶ 1 b) √3 ∶ 2 ∶ 1 c) 2 ∶ √3 ∶ 1 d) 1 ∶ √3 ∶ 2 

11. If sin(𝜋 cos 𝜃) = cos(𝜋 sin 𝜃), then the value of cos (𝜃 +
𝜋

4
) equals 

 a) 
1

√2
 b) 

1

2√2
 c) −

1

2√2
 d) −

1

√2
 

12. The most general solution of 

21+|cos 𝑥|+cos2 𝑥+|cos3 𝑥|+⋯∞ = 4 is given by 

 a) 𝑥 = 𝑛𝜋 ±
𝜋

3
, 𝑛 ∈ 𝑍 

 b) 𝑥 = 2𝑛 𝜋 ±
𝜋

3
, 𝑛 ∈ 𝑍 

 c) 𝑥 = 2𝑛 𝜋 ±
2𝜋

3
, 𝑛 ∈ 𝑍 

 d) None of these 
13. If cos 𝛼 + cos 𝛽 = 0 = sin 𝛼 + sin 𝛽, then cos 2 𝛼 + cos 2 𝛽 = 
 a) −2 sin(𝛼 + 𝛽) b) −2 cos(𝛼 + 𝛽) c) 2 sin(𝛼 + 𝛽) d) 2 cos(𝛼 + 𝛽) 

14. The value of the expression 1 −
sin2 𝑦

1+cos 𝑦
+

1+cos 𝑦

sin 𝑦
−

sin 𝑦

1−cos 𝑦
 is equal to 

 a) 0 b) 1 c) sin 𝑦 d) cos 𝑦 
15. In a Δ𝐴𝐵𝐶, 𝑎 = 2𝑏 and 𝐴 = 3𝐵, the 𝐴 = 
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 a) 90° b) 60° c) 30° d) 45° 

16. If in a ∆𝐴𝐵𝐶, 𝐴 =
𝜋

3
 and 𝐴𝐷 is the median, then 

 a) 2 𝐴𝐷2 = 𝑏2 + 𝑐2 + 𝑏𝑐 
 b) 4 𝐴𝐷2 = 𝑏2 + 𝑐2 + 𝑏𝑐 
 c) 6 𝐴𝐷2 = 𝑏2 + 𝑐2 + 𝑏𝑐 
 d) None of these 
17. If cos(θ − 𝛼) = 𝛼, cos(θ − 𝛽) = 𝑏, then sin2(𝛼 − 𝛽) + 2𝑎𝑏 cos(𝛼 − 𝛽) is equal to 
 a) 𝑎2 + 𝑏2 b) 𝑎2 − 𝑏2 c) 𝑏2 − 𝑎2 d) −𝑎2 − 𝑏2 

18. If cos
𝑥

2
. cos

𝑥

22 … . . cos
𝑥

2𝑛 =
sin 𝑥

2𝑛 sin  
𝑥

2𝑛
 , then 

1

2
tan

𝑥

2
+

1

22 tan
𝑥

22 +. . . +
1

2𝑛 tan
𝑥

2𝑛 is 

 a) cot 𝑥 − cot
𝑥

2𝑛 b) 
1

2𝑛 cot (
𝑥

2𝑛) − cot 𝑥 

 c) 
1

2𝑛 tan (
1

2𝑛) − tan 𝑥 d) 
1

2
cot 𝑥 −

1

2𝑛 cot (
𝑥

2𝑛) 

19. In triangles 𝐴𝐵𝐶 and 𝐷𝐸𝐹, 𝐴𝐵 = 𝐷𝐸, 𝐴𝐶 = 𝐸𝐹 and ∠𝐴 = 2 ∠𝐸. Two triangles will have the same area if 
angle 𝐴 is equal to 
 a) 𝜋/3 b) 𝜋/2 c) 2 𝜋/3 d) 5 𝜋/6 

20. The value of sin (
𝜋

18
) sin (

5𝜋

18
) sin (

7𝜋

18
), is 

 a) 1/2 b) 1/4 c) 1/8 d) 1/16 
 
 


